Page 1

Cé& C30MK I

Building the bulkhead Liquor Cabinet

1. This package contains pages of instructions and sketches.

2. Woodwor king skills and equipment ar e essential to make the 33 pieces and
assemble the cabinet. Thisproject isnot for the novice.

1. Check the size of the shutter opening. Thefinished size of the Cabinet will be 15
7/8" wideand 33 3/16" high. In my opinion the shutter frameisdifferent in each of
the 174 made. My opening was not square so | shaved a table saw thickness off the
front of the side frames next to the opening (1" in).

2. 1 strongly recommend that you build a plywood mockup before you start working
with teak. Thereisnot much plywood involved. You’'ll need 3/8" and 1/2"
thickness's. Use the material listings to calculate how much to buy of each.

3. Your biggest challenge will be to construct the brandy and liqueur assemblies.
The shutter side frames might be a miteless of a challenge.

4. Use#6 SS 1" screwsfor the assembly. Get theflat headswith the #2 Robertson
driver if possible otherwise the Philips head.

5. Good luck, and take your time making thereal thing. You can e-mail meif you
have a problem or need advice.

Have Fun!

Ed Ludwik

94 O’ Connor Crescent

Richmond Hill, Ontario, Canada L4C 7N8
(905) 737-2093

theludwiks@gta.igs.net



(Page 2)
C& C30MK I --Liquor Cabinet

| ndex _Page
1. Bill of Material -- Size and Description ----- e ]
2. Consolidation of Teak Requirements --------------- e D
3. Cutting Instructions ------ m-memememe=- 3
4. (2.1.2) -- Bottle Support (4 holes) & (2.1.5) -- Glasses Support -------------- 4
5. Brandy Glass Assembly (instructions) -----=-===========mmmmmmmm o mmomeeeeee 5

6. (3.4)-- Top, Brandy GlassHolder & (2.2) -- Btm, Brandy Glass Holder -- 6

7. Liqueur Glass Assembly (instructions) --------=-=-=--=-=-m-mmmmmmmmmmm oo 7

8. (3.3)--Top, Liqueur GlassHolder & (2.1.3) -- Btm, Liqueur GlassHolder 8

9. (3.5) -- Top/Btm Shutter Frame & (3.6) -- Top/Btm Shutter Frame &

(1.1) -- Template Top/Btm & (1.2) -- Door Button Mount --------------------- 9
10. (3.7) -- Sides Shutter Frame & (3.8) -- Shutter Frame Side Pieces &

(3.9) -- Shutter Hinge SUPPOrts ---------=-==-==mmmmmmmmmem oo 10
11. (2.1.1), (2.4)’s, (2.5), & (2.3)'s, Bottle Holder (instructions) ------------------- 11
12. Bottle Holder Assembly -12
13. Top Frame & Btm Frame Assembly (adding (3.5)/(3.6) ---------------------- 13
14. Cabinet Assembly (position of pieces and screw locations) ------------------- 14
15. Cabinet Assembly -- Part 1 ------ mmmemmmme - 15
16. Cabinet Assembly -- Part 2 ------ mmmemmmme - 16

17. COMPIEHION === m e 17




(Page 3)
C& C30MKk Il --Liguor Cabinet

Bill of Material -- Sizes & Descriptions
(Quantity x Length x Width

1. (3/4" thick) (1.1) 2x157/8" x 15/8" -- Top & Btm pieces (template)
(1.2) 1x2" x2" -- Door button mount (template & page 3 **)

2. (/2" thick) (2.1) 5x151/8" x 41/4" -- (2.1.1) -- Btm frame

(2.1.2) -- Bottlesupport (4 holes)
(2.1.3) -- Btm, liqueur glass holder
(2.1.4) -- Glass (mixed drinks) shelf
(2.1.5) -- Glasssupport (4 holes)

(2.2) 1x151/8" x 31/2" -- Btm, brandy glass holder

(2.3) 4x7 5/16" x 13/4" -- Bottle fwd & aft support

(24) 2x31/2" x13/4" -- Bottleintercostal support

(25) 1x4x41/4" -- Bottlemid support

3.(3/8" thick) (3.1) 2x2913/16" x 41/4" -- Sideframes
(32) 1x151/8" x 41/4" -- Top frame
(3.3) 1x151/8" x 41/4" -- Top, liqueur glass holder
(34) 1x151/8" x 31/2" -- Top, brandy glass holder
(35) 2x157/8" x 111/16" -- Top/Btm (1 of 2 pieces) shutter frame
(3.6) 2x157/8" x 11/4" -- Top/Btm (2 of 2 pieces) shutter frame
(3.7) 2x34" x15/8" -- Sides, shutter frame
(3.8) 4x211/16" x 29/16" -- Shutter frame side pieces
(3.9 2x4" x15/8" -- Shutter hinge supports

4. Hardware (4.1) -- SS #6 flat head screwsx 1"
(4.2) -- SS #6flat head screwsx 3/4"
(4.3) -- Door button -- Perko 1217 DP CHR
(4.4) -- Epoxy Glue
(4.5) -- Teak Plugs
Note: Wood grain along longest length.
Mixed Drink Glass-- 3 1/4" Diax 31/2" H Max.
Brandy Glass-- Base2 1/2" x4 1/2" H Max.
Liqueur Glass-- Base15/8" x 31/2"



(Page 4)

C& C30MK Il -- Liguor Cabinet

1. 3/4" Material 1x32"

2. 1/2" Material 1x48"
1x 36"
1x16"
1 x 40"

3.3/8" Material 2x 30"
1x 36"
1x 48"
1x 40"

Consolidation of

Teak Requirements

(Quantity x Length x Width)

x 15/8"

X 414"
X 414"
X 312"
x 13/4"

X 414"
X 414"
X 312"
X 312"

(1.1)

(211,212, 2.13)
(2.1.4,2.1.5, 2.5)
(2.2)

(2.3, 2.4)

(3.1)
(32,3.3,3.8)
(3.4, 3.5, 3.6)
(3.7, 3.9)

Note: These groupings of itemsinclude sufficient material to build the Cabinet.
See Page 3 for cuttinginstructions.

©ooNOO~WDNE

Equipment

Table saw with carbide blade (as many teeth you can buy)
Drill presswith drill bitsfor pilot holesand # 6 screws.
Combination drill bit and countersink for # 6 screws.
Plug cutter for #6 screws, Countersink (no drill).

Router and 45 degree and curved cutter bits.

Palm Sander, Drill Press sanding disks.

Whedl and Circle Cutter (for larger holes)

7/8" and 1 /4" paddledrillsor equivalent.

Assortment of clampsor equivalent.

10. 3/8" Power Drill & bits(to drive screws).

11. Hammer, screwdrivers, squaring tools, tape Measure
12. Jig Saw/blades, etc,, etc..
13. Flat wor kbench with vise



1. 3/4" Material

2. 1/2" Material

3. 3/8" Material

C& C30M

(Page 5)
K 11 -- Liquor Cabinet

Cutt

ing I nstructions

2 pieces15/8"

3 pieces 4 1/4"

2 pieces 41/4"

1piece 41/4"
1piece 31/2"

4 pieces 13/4"
13/4"

1 piece
2 pieces 41/4
1 piece

1lpiece 414
4pieces 2 11/

414

x 16" = 32" (L1)

x 16" = 48" (2.1.1) (2.1.2) (2.13)
x 16" = 32" (2.1.4) (2.1.5) plus
x 4" (2.5) Total = 36"

x 16" (2.2)

x 8" =32" (2.3) plus
x 8" (2.4) Total = 40"

'x 30" (3.1)
"' x 16" (3.2) plus

"' x 16" (3.3) plus
16" x 29/16" =11" plus

1 pieceof 5" left to make (1.2) ** Total = 48"

1 piece
2 pieces
2 pieces

1117

2 pieces
2 pieces

31/4" x16" (3.2) plus

16" x 16" (3.5) plus

114" x 16 (3.6) Total = 48" (Note 1)

15/8" x 34" (3.7) plus
15/8" x 4" (3.9) Total =38" +2"scrap (Notel)

(Note1l Theboardsare cut in half along the length)



«S/1S1

BT LK/ E

WP/ F

ajoy jopid 91/¢ -

e——— uF/E € <o BT A B e WHIEE

(Page SA)

‘woyoq pue dej yroq (,.g/1 $1) sadpa Suoj ay Janoy -
{A[UQ GO ‘sajoy # g3 1930y - (§°1°7)

A[U(Q) 4o ‘sajoq p 51) 13100y 'do) ay aq o} apts e asooy) - (7'1°7)

-:533pa 33 Suynoa oy snonannsur 1U3I3JJIP IABY OM) [BIUIPL 2 |

wulqe) Jonbrj - [T 0EJ ¥ O



5.

6

(Page 6)
C & C30MK Il -- Liquor Cabinet

Brandy Glass Assembly

Layout pilot holeson (3.4) per Page 6. Center punch 4 locations.

Clamp (3.4) on top of (2.2) and drill 4 pilot holesusing 3/16" drill bit .
Usea"wheed & circle cutter" and pilot holes to makefour 2 9/16" holesin (3.4) .
Useal1/4" paddledrill (or equivalent) and pilot holesto make 4 holesin (2.2) .
Usea 45 degreerouter bit to expand the 1 1/4"" holesin (2.2) to a diameter of 2".

Clamp (3.4) on (2.2) and screw together. Drill and countersink the 10 locations shown on the

Sketch. Use SS#6 screws 3/4" long.

7. Usetable saw to carefully cut thefour 1/2" wide entrance slots.

8. Usethe 45 degree cutter in thefour 1/2" dlotsto create a 45 degree angle on both sides of the slot.
Note: Thisnow lookslikea V groove cut into (3.4). The stem of thebrandy glasswill dide easily into
position on (2.2).

9. Useacurved router bit to establish a rounded appearanceto the fwd and aft edges, (top and
bottom of the assembly).

10. Lightly sand the assembly to remove any sharp edges..

11. Apply several coats of Teak Oil beforeinstallation.

Note: All drilling MUST be madein aDrill Press!




(Page 6A)

= <PIE/E = <8Il 1 <8/ 1 —= WFEE —

018 T/

B G

@7

OIS € 'v_

«8/5

— =

«8/5

T

) s

SMAIS . p/E SS9 #

ajoy jopd ,91/¢

puIqe) 10nbr — [ AN 0E D ¥ D

WU E

Bl W91/6 T



4,

5.

(Page 7)
C& C30MK Il --Liquor Cabinet

Liqueur Glass Assembly

Layout pilot holeson (3.3) as per page 8. Center punch 6 locations.

Clamp (3.3) on top of (2.1.3) and drill 6 pilot holesusing a 3/16" drill bit.
Usea"whed & circlecutter” and pilot holes to make six 1 3/4" holes in (3.3).
Usea 7/8" paddledrill (or equivalent) and pilot holesto make 6 holesin (2.1.3).

Use a 45 degreerouter bit to cut the 7/8" holesin (2.1.3) toadia. of 1 1/4".

6. Clamp (3.3) on (2.1.3) and screw together. Drill and countersink 8 locations shown on (3.3). Use
SS #6 screws 3/4" long.

7.

Usetable saw to carefully cut thethree 1/2" wide entrance slots.

8. Usea 45 degree cutter in thethree 1/2" dlotsto createa 45 degree angle on both sides of the dlot.
Note: Thisnow lookslikeaV groove cut into (3.3). The stem of theliqueur glasswill dide easily
between the 2 positions on (2.1.3) and in and out.

9. Usea curved router bit to establish arounded appearance to the fwd and aft edges, (top and
bottom of the assembly).

10. Lightly sand the assembly to remove any sharp edges.

11. Apply several coats of Teak Oil beforeinstallation.

Note: All drilling MUST be madein aDrill Press



(Page 7TA)

s WP —— e P — o

WH P
) N\ ") _
f!\ QA ob/1 ~Vm OIq L8/L \fu\ ©1 |
i

| e 1t e gt L e i .,l._

.Jff |
!

BId pie 1 |«V/LF

- —+

()
ond 91/ I\ .
ajoy 3 £ |\ 3P[0y SSe[3 n3nbr] ung - (¢ ¢
J3p[0Y SSE[3 nanbr] ‘A0 ] — (g'¢)

SMAIIS (PIESSO#

]

q'\

p

Juiqe) 1onbIT -1 N0 D »



$SUHINR T 03 dn pping 0y
an|d Axoda » yed) snjdins asn) (
IPIAL [ X SRIpRL g/s)

junow uoyng Looqq - (7 1

851
o
—
[<}]
2 y
o —L¥
| |
i SMALIS S /€ 9 # F PIA PENY T[BLIABI g/¢ 01U} {UISIJANOIJIUP WYL, |
*SA[QUIASSE 7 B — (§°¢) Jo 33pa 0} ysn[j (0°5) 24nIAg |
«8/IL ST =
- oo R
_ e e - S :: S - k
ke—woumr > | @ = «TT ¥ = - ULY S IR I

Juely PPnis ‘ung;doy, - (9°¢)

ameIy RYNYs ung/doy —- (5'¢

PUIqE) 10D T~ [T AN 0L D ® D



(Page 7C)

il 3PS 9T/T1 7341 Buoje (L) o3 (g') ann)  TIION

«FE

(6'g)xgjo EuEﬁ..a_n_ Ay} FUIULIAIP [j14 s3BUIY JaPnyg

f<— ¢ 10 & —=m JON < ;10 & — >
(6¢) / Gc) (o)
®9 [N\ A\ﬂ
an|3 Axody T3jmeqs “33p oF anja Axody /|
OUVILT
\ an|3 Axody anj3 £xedy anj3 Axodjy b
a.v / /Q.& WIV/6 T
i
\ ]
(z'1) uonng iooQ (L€) «8/5 1

11T . ]

(7) S3100dns 35Ul PPINGS—- (6 €
93pa awed) IaPnyS—- (3¢)

JuIqE) 0NDI T - [[ NN 0E D ¥ D

)



(Page 8)
C & C30MK Il -- Liquor Cabinet

Bottle Holder Assembly

(2.1.1) -- Btm frame. 4x (2.4) -- Fwd & aft support.
(2.5) -- Bottle mid support. 2 x (2.3) -- Bottleintercostal support.

1. Study the assembly on page (12). Use#6 SSscrewsx 1" for the assembly.

2. Choose a bottom side of (2.1.1). Layout 11 screw locations per top sketch on  pagel2. Center
punch.

3.0ntop sideof (2.1.1) locate (2.5) in the middle of (2.1.1)and clamp securely.

4. Butt 2x (2,3) on either side of (2.5). Ensurethat they areflush with the outside edgesof (2.1.1).
Clamp the 4 pieces securely to (2.1.1).

5. Now the challenge! Drill and countersink the 11 locations using the Drill Press.
6. Remove (2,5) (mark to re-install correctly). Fasten the 4 pieces(2.3) to (2.1.1) with screws.

7.Measure 31/4" from either side of (2.5) and insert (2.4) between the (2.3)'s. Make sure
they are secure.

8. Usethe Drill Pressand combo drill/countersink to drill a holesthrough (2.3) and into (2.4). Center
the hole at the midpoint of (2.3) and (2.4). Four holesarerequired to securethe (2.4)'s. Insert 4
plugs and sand smooth.

9. Router theinside edges of (2.3) and 2.4) ONLY .

10. Re-install (2.5). Fasten to (2.1.1) with 3 screws.

11. The outside edges of (2.5) will beroutered |later.




(I'rT) o aapua’)

] \ 1 |

(ry —-| | | |
| D T
f P E WHITE @w W8S T
) | _ __ *'7 *I
Sn[d/Ma125 {UISIUNOI/[HIP OqUIOT) \
((p"7) ¥ (£°7) Jorurodprpy) (7= | Je- "1938] PaIAIN0J 3q [[|a (S7T) JO 33Pa [BI[IIIA 3ION -
M .J....; wl .— w5 = ..I‘\_ &m = wl p=—
g _ |
£ S R S O SO DRSS S
i i i
| i 1 L
| o ST L
1 e | rames |
|
| ] ] — |
SUOIIEIO] MIIIS || i ‘o ST I H |
| [ _ 1 Hll_lln Vo
1, N NSRS, ' JENR UGG [ AP TN U I
[ FTF [ +
| - «8/1 ST >

-3a0ddns [eysorsajur apyog -- (¢°7) x 7 Hoddns pru apjog — (5°7)
1oddns 3y % pag - (#°7) X p ~dwey ung - (1°1°7)

[quiassy 19p[oH amog

jaulqe)) 1onbr| — 11 JIN 0% D » O



(Page EB)

C & C 30 MK II -- Liquor Cabinet
Add (1.1) and (3.5)/(3.6) Assembly to

3.1) -- Top Frame

Tip: Clamp a shim of 3/8” material to both ends of (3.2), flush with the top edge.
Repeat for the bottom edges of (2.1.1) of the bottle holder assembly.

Transfer screw locations to stacked (3.1)’s, page (14)

Epoxy glue

and clamp
(1.1

e —— ]

.0

)

(3.5)/(3.6) Assembly page (9)

- |&——— (3.2) Top frame

127 =™

Side View

e 1/27

(3.1) Side frame screw locations

Add (1.1) and (3.5)/(3.6) Assembly

to Bottle Holder Assembly

Transfer screw locations to stacked (3.1)’s, page (14)

Side View

(3.1) Side frame screw locations

+

.}.

and clamp

(3.5)/(3.6) Assembly page (9)

<-[3!8”9~(—1 3!8”-3}, 13/4”
+ ) y
(1.1)
Epoxy glue

— 1



(Page 8C)

C & C 30 MK II -- Liquor Cabinet

Cabinet Assembl
(Position and screw location)

Table

Lay the 2 (3.1)'s side by side along their length and mark the bottom paosition for
each piece per the Table. Stack one frame on top of the other. Use the Table to
locate the screw positions on top frame. Center punch each location; use the Drill
Press to drill holes through both frames.

(3.4)/(2.2) - Brandy glass assembly

+ + +

277187
(2.1.5) -- Glass support (4 holes)
19 314" ’
(2.1.4) — Glass (mixed drinks) shelf
+ + +
17 1/4”
(3.4)/(2.1.3) — Liqueur glass assembly
16 3/8”
(2.1.2) — Bottle support (4 holes)
4‘?
(2.1.1) - Reference base (Bottle holder assembly)
0“!

= 114"

W




(Page 9)
C& C30MK Il -- Liguor Cabinet

Cabinet Assembly -- Part 1

Ingtall (2.1.2), (3.4)/(2.1.3), (2.1.4), (2.1.5) and (3.4)/(2.2)

What you need: 1. Flat work bench.
2. 2x 2" clamps.
3. Largesquare.
4. ldeally 3 power drills:-
#1 with adrill bit to extend the holes past the side frames.
#2 with a countersink, and
#3 with a #2 Philipshead (+) todrivethe #6 SSscrews x 1"

1. Matethe sideframesto the Bottle holder assembly (Bottom) and the (3.2) Top
frame assembly (Top). Tip: Placethe Top & Bottom assemblies with the cabin face
resting on the workbench. When fastening, make sure the whole assembly is squar !

2. Position (2.1.2) in place with the routered side up. Fasten to side frames. Drill
through (2.1.2) into (2.5) with combo drill/counter sink 1/2" from edge. Fasten
(2.1.2) to (2.5). Insert plugsand sand smooth. Carefully router (front & back) along
the bottom edge of (2.1.2) and down (2.5) to the edges of (2.4).

3. Position (3.4)/(2.1.3) in place and fasten.

4. Router theedgesof (2.1.4), (front & back). Position in place and fasten.

5. Position (2.1.5) in place and fasten.

6. Position (3.4)/(2.2) in place (aft edge flush with rear edge of sides) and fasten.

Part 2 assembly on page 16




(Page 9A)

C & C 30 MK II -- Liquor Cabinet

Cabinet Assembly Part 2
(Attach shutter side frames to cabinet)

(Door Button side shown. Reverse for Hinge side)

Option: Hide serews on door button side by using combo drill/countersink/plug

-

Top fra_mc assembly

Cabin face

I
.

|&~- 21/8" — l ! 15/16" —=
-

Jugm

[

I |

b
Bottle holder assembly : :

[

| |

(

|

|

f

I+




(Page 10)
C& C30MK Il -- Liguor Cabinet

Completion

1. Add an addition screw to the shutter side framesat location (2.1.4)
2. Install the door button -- Perko 1217 DP CHR
3. Apply several coats of teak oil to the completed assembly.
4. Locate the bulkhead installation holes(4) asfollows:-
4.1 -- 1/2" from forward edge side frames, and
4.2 -- 43/8" from thetop of (3.2)
4.3 -- 63/4" from the bottom of (2.1.1)

5. Install the shuttersin the Cabinet (use original screws).

6. Install the Cabinet in the bulkhead. Use # 8 SS screws x 3/4" with caps

7. Stand back and admireyour handiwork, and ------

Congratulations
Fill the cabinet with bottles and glasses

&
Enjoy!

ENJOY



